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Jor the questions
1. Answer the following as directed : 1x10=10
So7e fraaRa ot e fim :
-"(a) Define averagé propénsity: to consume
(APC). '
1% Borgere AR TR fd |

(b) Define gross domestic prodixct, '
TS TR Beoa K fan o
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(d)

(e)
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(2)

Mention one method of measuring
national income.

<@ R A BT TS S |

What is effective demand?-

- wferm widm &2

From left to right aggregate demand
curve is upward  sloping/downward
sloping.

( Choose the correct answer )
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- Keynesian equilibrium is a full employ-

ment/underemployment equilibrium.

( Choose the corréct answer )
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( Continued )
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(h)

(3)

Define autonomous investment.

yage ffFaneR et far ) -

Marglnal propensity to consume cannot
be greater than one.
( State True or False )

2R (Sl RSl LT TIET 'Y CTRIA |

(S g e )
() What is an accelerator? S '
= 2 |
(i) - Define marginal efficiency of capital.
T 2R SR e i | |
2. Answer the following questions :
Gﬁ?ﬁﬁ?ﬂ?iﬁﬁaﬁ*ﬂ:;; |
- (@) Whgt are the basic economic ,,ac,t,ivities?
T weAfes IR R 6 2
() How does Gross National Product differ
from Net National Product?’
&% B BT R I G e R
42T ?
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2x5=10



t4)

(¢ Mention the determinants of aggregate
demand function.

gD R TR AR SeE 1

(d) Mention two  factors  affecting
consumption function.

o o e 51 B B 2 |
(e) What is investment?
Rt &2
8. Answer any four from the following
questions : . 5x4=20
. &R AR R @ sifir Teg fora

" (@) Explain the circular flow of income in a
two-sector economy.

”ﬁw@w@%amwmmw
]

(b) Explain the main components of
national income.

TE Wi it SonenTR I 4 |
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(c)

(d)

(e)

20A/370

What were the Keynes’ objections to
classical theory? Explain bnefly

Wﬁ@waﬁmmﬂm{iﬁwﬁm
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Explain the relationship between
marginal propensity to consume (MPC)
and multiplier.

ARE Togerl AT WEF IR AHS ¥
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Explain the relationship- between
marginal efficiency of capltal and
marginal efficiency of investment.

TieE o e o REe AR

| PSR AEI ToRECHT I FA!

Explain vbrieﬂy the .conéept of super-
multiplier.
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4. Answer any four of the following questions :
10x4=40

(a)

(b)

Z

(d

Wﬁmmﬁ%ﬁw%—«n

Dlscuss the rela'uonshlp between
national income and economic welfare.
What are the importances of measuring

national income? Explain. - 5+5=10
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R F 9

Discuss the simple Keynesian model of

income determination.. 4 10
oy R e P SfRCE e 1 |
Discuss the classxcal theory of
employment. 10
TRz AgiPre SgC Seame 4T |
Discuss critically th; Keynesian
consumption function. 10
P Co19t FABT FCEACAIFOIE AT
91

( Continued )
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(7))

(e) Explain the relationship between
marginal efficiency of capital (MEC) and
investment. What are the determinants
of MEC? Explain. 4+6=10
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() Critically discuss the accelerator theory. 10
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